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1. 

A)   

B)   

C)   

D)   

A B C D

a) 4 3 1 2

b) 1 4 3 2

c) 1 2 4 3

d) 3 1 2 4

e) 

2.  
a)  b) 
c)  d) 

e) 

3. 
a)  b)  c) 
d)  e) 

4.   
a) 
b) 
c) 
d) 

e) 

5.     

a)  b) 
c)  d) 

e) 

6. 
a) 
b) 
c) 
d) 

e) 

7.    

a)  b) 
c)  d) 

e) 

8. 
 

A)   

B)   

C)   

D)   

A B C D A B C D

a)     b)    

c)     d)    

e) 

9. 

a)  b) 

c)  d) 

e) 

10. “





”

‘’

a)  b)  c)  d) 

e) 

11. 

 



 

 

 

a)  b)  c) 

d)  e) 

12.  

a) 

b) 

c) 

d) 

e) 

13. 

a)  b)  c) 

d)  e) 


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14. 

A)   
B)   
C)   
D)   

A B C D A B C D
a) 1 3 2 4 b) 4 1 3 2
c) 1 4 3 2 d) 2 1 4 3

e) 

15. 
 
 
 
 
a)  b)  c) 
d)  e) 

16. 

a) 
b) 
c) 
d) 

e) 

17. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 3 1 4 b) 4 1 2 3
c) 4 3 2 1 d) 3 4 1 2

e) 

18.     

a)  b) 
c)  d) 

e) 

19. 

a)  b) 
c)  d) 

e) 

20.  

a)  b)  c) 
d)  e) 

21. 
a)  b) 
c)  d) 

e) 

22. 
    


 
 
 

a)  b)  c) 
d)  e) 

23. 

 

 

 

 

a)  b)  c) 

d)  e) 

24. 

a) 

b) 

c) 

d) 

e) 

25.       

    



  ‘’



a)  b) 

c)  d) 

e) 

26.     



a) 

b) 

c) 

d) 

e) 

27. 

a)  b)  c) 

d)  e) 

28. 

 “

”



 “

”

 “

”

 “”



a)  b)  c) 

d)  e) 

29. 

 

    



 

a)  b)  c) 

d)  e) 
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30.   





a)  b) 

c)       d)  

e) 

31. 

a)  b)  c) 

d)  e) 

32. 

1) 



2) 



3)    



4)  



a)  b)  c) 

d)  e) 

33. 

a)  b) 

c)  d) 

e) 

34. 

 

 



 



 



a)  b)  c) 

d)  e) 

35. 

a)  b)  c) 

d)  e) 

36.  
    
   
   
   
a)   b) 
c)   d)

e) 

37.  

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 2 3 4 b) 2 4 1 3

c) 3 1 4 2 d) 2 1 3 4

e) 

38. 
a)  b)   
c)  d)    

e) 

39.     



a)  b) 

c)  d) 

e) 

40. 

 

2. 

3. 

4. 

a)  b)  c) 

d)  e) 

41. 

a)  b) 

c)  d) 

e) 

42. 

a)  b) 

c)  d) 

e) 

43. 

 

 

 



 



a)  b)  c) 

d)  e) 

44. 

a)  b)  c) 

d)  e) 

45. 

    



  



 

 



a)  b)  c) 

d)  e) 

46. 

a)  b)  c) 

d)  e) 

47. 







      


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a)  b) 
c)  d) 

e) 

48. “
”
a)  b)  c) 
d)  e) 

49.       

      



      



a) 

b) 

c) 

d) 

e) 

50.  
“ 

 
”
a)   
b)   
c)  
d)   

e) 

51.    

 

a)  b)  c) 

d)  e) 

52. 

a)  b)  c) 

d)  e) 

53. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 3 2 4 b) 1 4 3 2

c) 2 3 4 1 d) 2 4 1 3

e) 

54. 

a)  b)  c) 

d)  e) 

55. 

a)  b)  c) 

d)  e) 

56. 

a)  b) 

c)  d) 

e) 

57. 
a)  b)  c) 

d)  e) 

58. 

a)  b)  c) 

d)  e) 

59.      



a)  b)    c) 

d)  e) 

60. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 2 3 4 b) 2 4 1 3

c) 2 3 1 4 d) 3 1 2 4

e) 

61. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 2 3 4 1 b) 1 2 3 4

c) 4 3 2 1 d) 2 4 1 3

e) 

62. 

a)  b) 

c)  d) 

e) 

63. 

a)  b)  c) 

d)  e) 

64. 



a)  b)  c) 

d)  e) 

65. 

a) 

b) 

c) 

d) 

e) 

66. 

a)  b) 

c)  d) 

e) 

67. 
a)  b) 
c)  d) 

e) 
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68. 
a)  b)  c) 
d)  e) 

69. 
a)  b)  c) 
d)  e) 

70. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 1 2 3 b) 4 3 2 1
c) 4 1 3 2 d) 2 4 1 3

e) 

71. 
a)  b) 
c)  d) 

e) 

72. 
a)  b) 
c)  d) 

e) 

73.    


     

a)  b) 
c)  d) 

e) 

74. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 3 1 4 b) 4 3 1 2
c) 4 2 3 1 d) 1 3 4 2

e) 

75. 
       
       
a)  b) 
c)  d) 

e) 

76. 
“ 
 ”
a)     b)   
c)    d)   

e) 

77. 

‘




’
a)   
b)   
c)   
d)   

e) 

78.  
    

a)  b)  c)  d)

e) 

79. “    
     
”
a)  b)  c) 
d)  e) 

80. 
a) 
b) 


c) 


d) 

e) 

81. 
a) 


b) 
c) 
d) 

e) 

82. 

a)  b) 
c)  d) 

e) 

83. 
a)  b) 
c)  d) 

e) 

84. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 2 3 4 1 b) 4 1 2 3

c) 4 3 1 2 d) 2 1 3 4

e) 

85. 

a)  b)  c) 

d)  e) 

86.  
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a) 

b) 

c) 

d) 

e) 

87. 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 2 3 4 b) 1 3 2 4

c) 4 1 3 2 d) 2 1 4 3

e) 

88. 
 

A)   
B)   
C)   
D)   

A B C D A B C D
a) 4 2 3 1 b) 1 3 2 4
c) 4 3 2 1 d) 2 1 4 3

e) 

89. 
I  II 

1)   
2)   
3)   
4)   
a)    
b)    
c)    
d)    

e) 

90. 

a)  b) 

c)   d) 

e) 

91. 
I II
 

A)   
B)   
C)   
D)   


A B C D
a)    
b)    
c)    
d)    

e) 

92. 
I II
 

A)   
B)   
C)   
D)   


A B C D A B C D
a)     b)    
c)     d)    

e) 

93. 
A)   
B)   
C)   
D)   

A B C D A B C D
a) 3 1 4 2 b) 2 1 3 4
c) 3 2 1 4 d) 1 4 3 2

e) 

94. 

a)  b) 

c)  d) 

e) 

95. 

 

 

 

 

a)  b)  c) 

d)  e) 

96. 

a)  b) 

c)  d) 

e) 

97. 



a)  b)  c) 

d)  e) 

98. 

a)  b) 

c)  d) 

e) 

99. 



a)  b) 

c)  d) 

e) 

100.

a)  b) 

c)  d) 

e) 
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1. Find out the odd sentence from the following.
a) I have many pencils
b) She ate the whole apple

c) Jasmine is a fragrant flower

d) He ran fast

e) Answer not known

2. Identify the sentence that contains an adverb:

a) Praveen writes neatly

b) French is an easy language

c) The tallest building is on fire

d) He looks as stupid as an owl

e) Answer not known

3. Match the underlined words under Column ‘A’ with

their grammatical function under Column ‘B’ and

select the correct code.

Column A Column B

A. Equal status to women is a far cry 1. Adverb

B. The two live the same life 2. Adjective

C. Let us hope for the best 3. Noun

D. She sings well 4. Verb

A B C D A B C D

a) 2  1  3 4 b) 3 1 2 4

c) 2 3 4 1 d) 4 1 2 3

e) Answer not known

4. Find the odd one of the following words.

a) honour b) wonderful c) brave

d) excellent e) Answer not known

5. Find out the verb from the following

a) proud b) clean

c) wiser d) election

e) Answer not known

6. Find out the odd words

a) telling b) diving c) beauty

d) swimming e) Answer not known

7. Choose the sentence which is in Adverbs of Manner

from the options given.

a) He walked forward

b) Tomorrow will be a working day

c) Alexander fought bravely

d) I had given enough money

e) Answer not known

8. Change the underlined word into verb in the given

sentence : Charu is a beautiful girl.

a) Beauty b) Beautician c) Beautify

d) Beautifying e) Answer not known

9. Find out the odd one

a) slow b) calm c) success

d) good e) Answer not known

10. Find out the verb from the following.

a) Accomplish b) Accomplishment

c) Honestly d) Beauty

e) Answer not known

11. Match the underlined words in Column A with their
parts of speech in Column B and select the correct
answer from the codes given :
Column A Column B
(a) The King appointed a minister 1. noun
(b) Gold is a precious metal 2. verb
(c) It is a pleasant evening 3. adverb
(d) He always speaks the truth 4. adjective

A B C D A B C D
a) 1 3 2 4 b) 2 4 3 1
c) 2 1 4 3 d) 2 3 4 1
e) Answer not known

12. Match the underlined words in Column A with their
parts of speech in Column Band select the correct
answer from the codes given:

Column A Column B
A.  I dream of my happy days 1. verb
B. We are always busy 2. noun
C. The teacher teaches History 3. adverb
D. He plays cricket 4. adjective

A B C D A B C D
a) 1 3 2 4 b) 4 3 2 1
c) 2 3 1 4 d) 4 2 3  1

13. Which of the following is an adjective?
a) badly b) bad c) intelligently
d) remove e) Answer not known

14. Which of the following compound word is not formed
by combining verb and adverb?
a) washout b) manservant c) flashback
d) make-over e) Answer not known

15. Find out the odd word
a) popular b) go c) tell
d) walk e) Answer not known

16. Find the odd one out
a) gradually b) slowly c) well
d) beautiful e) Answer not known

17. Find out the Odd Word
a) superfluous b) strange c) Bicycle
d) Busy e) Answer not known

18. Find out the Odd Word
a) Brother b) Sister c) School
d) Old e) Answer not known

19. Find out the Odd Word
a) Busy b) Lazy c) Old
d) Classmate e) Answer not known

20. Find out the Odd Word
a) Often b) Always c) Along
d) Busy e) Answer not known

21. Pick out a sentence that does not have an
 “Adverb” from the options given below.
a) She speaks English well
b) He has never seen a Tiger
c) It is raining heavily
d) I know the answer
e) Answer not known

General English (100)
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22. Pick out the sentence – where “like” is not used as
preposition.
a) We shall not see the like of Gandhiji again
b) Today Ang San Suu Kyi fights like Gandhiji
c) Many wanted to be like him
d) I like Gandhiji
e) Answer not known

23. Choose the option containing the right word that suits
the context of the sentence given below: The ——
on the grass sparkled in the morning sunlight
a) due b) dew c) do
d) doe e) Answer not known

24. Choose the noun form of the verb ‘sing’
a) sang b) singing c) song
d) sung e) Answer not known

25. As the coming generation also has its dreams and
aspirations for the nation’s future it therefore adds
something from its side to the national vision. Write
the verb form in of the word “aspiration”.
a) aspire b) aspiringly c) aspirate
d) aspiry e) Answer not known

26. Find out the odd word among the following
a) Voyage b) countenance c) species
d) recreate e) Answer not known

27. Find out the odd word.
a) Bless b) Praise c) Raise
d) Talkative e) Answer not known

28. Find out the odd word.
a) Donkey b) Dew c) Dawn
d) Draw e) Answer not known

29. Select the correct adjective form for the underlined
word from the options given below : There is tears
for his love …….. death for his ambition.
a) ambitionful b) ambitionous
c) ambitioning d) ambitious
e) Answer not known

30. Identify the sentence with adverb.
a) That day he arrived late
b) Generally speaking, we receive what we deserve
c) The sweet mango is fit to eat
d) Everybody wishes to enjoy life
e) Answer not known

31. Match the underlined words under Column ‘A’ with
their parts of speech under Column ‘B’ and select the
correct code from the options given.

Column A Column B
A. We obey our elders 1. Adjective
B. He is a patient listener 2. Noun
C. Seethal danced gracefully 3. Verb
D. There is no substitute for hard work 4. Adverb

A B C D A B C D
a) 2 1 4 3 b) 1 3 4 2
c) 3 1 4 2 d) 4 2 3 1
e) Answer not known

32. Find the Odd one.
a) sunlight b) handbag c) engine driver
d) tell e) Answer not known

33. Identify the word which is not a verb.
a) reverberate b) vibrate c) immaculate
d) celebrate e) Answer not known

34. Identify the word which is not an adjective.
a) diagnose b) grandiose c) venomous
d) verbose e) Answer not known

35. Identify the word which is not a noun : .
a) cowardice b) patronise c) promise
d) menace e) Answer not known

36. In 1930 Mahatma Gandhi Started Civil Disobedience
Movement from
a) Sabarmati b) Sevagram c) Dandi
d) Wardha e) Answer not known

37. Mahatma Gandhi got his inspiration for Civil Disobe-
dience from
a) Tolstoy b) Confucius c) Thoreau
d) Ruskin e) Answer not known

38. Which of the following newspapers was NOT pub-
lished by Mahatma Gandhi ?
a) Young India b) Vande Mataram
c) Harijan d) Navjeevan

e) Answer not known

39. Who called Subhash Chandra Bose as “patriots of
patriots” ?
a) Rabindranath Tagore b) Mahatma Gandhi
c) Jawaharlal Nehru d) Bipin Chandra pal

e) Answer not known

40. During the Non-Cooperation Movement, Which
award did Gandiji return?
a) Rai Bahadur b) Kinghthoodc) Hind Kesari
d) Kaiser -e- Hind e) Answer not known

41. Mohandas Karamchand Gandhi was called as Ma-
hatma by
a) Rabindranath Tagore
b) Motilal Nehru
c) Jawaharlal Nehru
d) Bal Gangadhar Tilak

e) Answer not known

42. At Which of the following sessions of the Indian Na-
tional Congress, did Gandhiji preside as the President?
a) Lucknow, 1916 b) Calcutta, 1917
c) Belgaum, 1924 d) Lahore, 1929

e) Answer not known

43. “The Light has gone out of our lives” Who said this on
Gandhi’s death?
a) Jawaharlal Nehru
b) Rabindranath Tagore
c) Rajendra prasad
d) Dr.B.R.Ambedkar

e) Answer not known

44. What is the full name of Mahatma Gandhi ?
a) Mahanlal Karamchand Gandhi
b) Mohandas Karamsingh Gandhi
c) Mohandas Karamchand Gandhi
d) Madandas Karamsingh Gandhi

e) Answer not known
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45. Who among the following Indians set up the ‘Phoenix
Institute’ in an African Country?
a) Lala Lajpat Rai
b) Mahatma Gandhi
c) Devendranath Tagore
d) Dadabhai Noroji

e) Answer not known

46. Mahatma Gandhi arrived in ______South Africa
abroad the steamship SS Safari.
a) Johannesburg b) Cape Town
c) Durban d) Port Elizabeth

e) Answer not known

47. Who was given the slogan ‘Do or die’?
a) Subhash Chandra Bose
b) Bipin Chnadra Pal
c) Sarojini Naidu
d) None of these

e) Answer not known

48. When was the Gandhi - Irwin Pact signed?
a) March 1, 1932 b) March 5, 1931
c) March 10, 1935 d) March 7, 1937

e) Answer not known

49. From Which station in South Africa Gandhi was thrown
out of the train ?
a) Natal b) Johannesburg
c) Pietermaritzburg d) Durban

e) Answer not known

50. At which place was Gandhiji arrested for the first time
by the British Government for sedition?
a) Bombay b) Pune c) Calcutta
d) Ahmedabad e) Answer not known

51. Who wrote the poem, “Making life worth While”?
a) Caroline Ann Bowles b) Mary Ann Evans
c) Rakhi Nariani shirke d) Indira Nooyi

e) Answer not known

52. Mary Ann Evans
a) american novelist
b) one of the leading writers of the victorian era
c) She wrote & novels
d) Short story writer, Native speaker

e) Answer not known

53. Gandhi’s Pamphlet of Indian grievances is called
a) Yellow pamphlet b) Green pamphlet
c) Red pamplet d) Blue pamplet

e) Answer not known

54. How many years Gandhi stayed in South Africa ?
a) 22 yrs b) 21 yrs c) 23 yrs
d) 24 yrs e) Answer not known

55. Who played a major role to resolve differences be-
tween Gandhi and Ambedkhar ?
a) Tagore b) Bose c) Neru
d) Jinnah e) Answer not known

56. On Which day of March 1930, the famous Dandi
March launched by the Gandhiji ?
a) Tenth b) Thirteenth c) Twelfth
d) Eleventh e) Answer not known

57. Who was the political guru of Mahatma Gandhiji?
a) Ravindra Nath Tagore
b) Swami Vivekananda
c) Gopal Krishna Gokhale

d) None of the above

e) Answer not known

58. What is the name of the newspaper which was started
by Jawaharlal Nehru ?
a) Amrit Bazaar Patrika
b) The Hindu
c) National Herald
d) The Bengal Journal

ee) Answer not known

59. Jawaharlal Nehru was called ________
a) Rashtrakavi
b) Rashtraguru
c) Architect of Democratic India
d) Father of Nation

e) Answer not known

60. Who male Nehru as his political heir in 1942?
a) Gandhiji b) Gokkale c) Motilal Nehru
d) Jinnah e) Answer not known

61. Jawaharlal Nehru port is situated at ?
a) Chennai b) Kolkata c) Delhi
d) Mumbai e) Answer not known

62. When Nehru became the Prime Minister of indepen-
dent India, he delivered an inaugural address to the
Nation which has been given a special name. What is
that name?
a) Tryst with fate b) Tryst with Destiny
c) Tryst with the nation d) Tryst with India

e) Answer not known

63. Who was the President of the National Planning com-
mittee founded in 1938 on the insistence of Indian
National Congress ?
a) Jawaharlal Nehru
b) Dr. Rejendra prasad
c) Pattabhi sita Ramaiya
d) Dr.Ashok Mehta

e) Answer not known

64. In Which year Jawaharlal Nehru joined Home Rule
League ?
a) 1970 b) 1925 c) 1917
d) 1903 e) Answer not known

65. When did Jawaharlal Nehru took office as the Prime
Minister of India ?
a) 15 Aug 1940 b) 15 Aug 1947
c) 17 Aug 1947 d) 17 Aug 1940

e) Answer not known

66. Choose the noun form of the verb ‘recite’

a) recitation b) reciting c) recited
d) recitate e) Answer not known

67. Fill in the blank with the correct verb form of the
noun ‘writer’ Don’t—— on the wall.
a) written b) write c) write-up
d) writing e) Answer not known

68. Identify the sentence which does not contain an ad-
jective :
a) He is an early riser
b) The early bird was rewarded
c) He rises early
d) They came by an early train
e) Answer not known
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69. Identify the adverb from the following list:
a) heavy b) old c) daily
d) small e) Answer not known

70. Match the underlined words under column A with
their parts of speech under column B and select the
correct code from the options given :

Column A Column B
A.  Kumar’s Childish behaviour 1. Adverb

irritates us
B. I like entertainment 2. Adjective
C. He brought glory to his country 3. Noun
D. Slowly, the snake crawled away 4. Verb

A B C D A B C D
a) 2 4 1 3 b) 2 3 4 1
c) 3 1 4 2 d) 3 2 1 4
e) Answer not known

71. At Which place of Bihar, Gandhiji started Satyagrapha
Movement for the first time in India ?
a) Champaran b) Gaya  c) Madhubani
d) Patha e) Answer not known

72. The first mass movement started by Mahatma
Gandhi was
a) Indigo Movement
b) Non co-operation Movement
c) Quit India Movement
d) Salt Movement

e) Answer not known

73. The Prime Minister of England at the time of Quit
India Movement was
a) Chamberlain b) Mac Donald
c) Clement Attlee d) Churchill

e) Answer not known

74. Synonyms of “grace”
a) elegance b) a hope c) charm
d) a and c e) Answer not known

75. Synonyms of “Glimpse”
a) glance b) elegance c) cavering
d) none e) Answer not known

76. Mary Ann Evans lived between
a) 1819-1880 b) 1820-1880
c) 1880-1900 d) 1821-1810

e) Answer not known

77. Synonyms of gleam
a) Shine brightly b) look brightly
c) laziness d) none

e) Answer not known

78. Synonyms of worth while
a) Valuable b) desire c) discomfort
d) comfort e) Answer not known

79. Synonym of heritage.
a) inheritance b) neglect c) Threw
d) ceiling e) Answer not known

80. What is the figure of speech used here?
“And heaven a surer heritage”
a) smile b) metaphor
c) Alliteration d) paradox

e) Answer not known

81. Find out the adjective  from the following
 “The Roar of a lion would make all sheep afraid“.

a) Roar b) Lion c) Sheep
d) afraid e) Answer not known

82. When did Nehru become Chairman of the Allahabad
Municipal Board ?
a) 1921 b) 1922 c) 1923 d) 1924

e) Answer not known

83. Identify the sentence with ‘Adjective’.
a) Mini arrived late
b) He ate the whole apple
c) Ram runs fast
d) Gopi reads clearly
e) Answer not known

84. Select the sentence which has an intransitive verb
from the given options
a) The fishermen washed their net cleanly
B) The little girl is laughing merrily in her new dress
c) Manufacturers offer their products without much

profit
d) The bright lights have attracted the fish
e) Answer not known

85. Identify the sentence in which the comparative form
of the adjective is used.
a) This is the most interesting book that I have read
b) Prevention is better than cure
c) This is the longest lesson in this book
d) No other animal runs as fast as the cheetah
e) Answer not known

86. Identify the adverb from the following list.
a) heavy b) dirty c) brightly
d) value e) Answer not known

87. Identify the odd word from the list given below:
a) chase b) follow c) continue
d) withdraw e) Answer not known

88. Which among the following words cannot be used as
an adverb?
a) well b) lonely c) early
d) daily e) Answer not known

89. Find out the odd word from the list given below
a) common b) strange c) usual
d) regular e) Answer not known

90. Identify the odd word among the options
a) delicious b) expensive c) industrious
d) jubilantly e) Answer not known

91. Find out the Odd Word
a) Decide b) Attend c) Scold
d) Regularly e) Answer not known

92. When did Nehru meet Gandhi in Ist time?
a) 1916-Luknow Session
b) 1916-Kanpur session
c) 1916-Calcutta session
d) 1917- Kanpur session

e) Answer not known

93. Find out the Odd Word
a) Sister b) Girl c) Malar
d) Boy e) Answer not known

94. Find out the Odd Word
a) Pudukottai b) Malar c) Mani
d) Boys e) Answer not known

95. Who granted political asylum to 14th Dalai lama?
a) Gandhi b) Nehru c) Patel
d) Indira Gandhi e) Answer not known
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Comprehension (96-97) :

1. Mountains have a great fascination for men and peo-
ple, Mountain climbing, however, is not without risks.
It is a challenge to the unconquerable spirit of man
and his love of adventure. That is a dangerous sport
cannot be denied. As one climbs higher and higher,
breathing becomes more and more difficult. Some
climbers, therefore, carry a heavy apparatus from
which they inhale oxygen.

2. Mountain climbing is dangerous in the extreme. There
are snow storms and blizzards. It is difficult to walk
through the snow. It isstill more difficult to climb on
ice becfause it is difficult to keep foothold and cut
steps with axes in order to make progress. The cold is
so severe that the climber’s skin, feet, toes, fingers
and tissues freeze, become numb and they may suf-
fer frostbite. The most serious difficulty is the climber
at a high altitude gets exhausted with a little effort.

3. Mountain climbing requires proper training, skill and
knowledge. The climbers must be well - equipped.
They must be in goos physical condition and shoul
possess courage, perserverance and power of endur-
ance. They should carry with them maps, compasses
and other equipment so that they are able to find out
where they are in the absence of any tracks. They
must travel through dense woods as they approach a
mountain and then climb steep rocks. Near the sum-
mit of a high peak, the climbers have to move over
snow fields and glaciers. In dangerous areas they use
ropes to tie themselves in groups.

4. The climbers carry with them packs loaded with first
- aid supplies, food and extra clothing for sudden
changes of weather. They display spirit of sportsman-
ship and fellow - feeling and face the severe risk of life
undaunted. Mountain climbing is a common sport in
Europe. There are mountaineering clubs where train-
ing in  mountaineering is imparted.

5. There are high peaks in India and there have been
successful expeditions to scale these highest peaks.
After the conquest of the Everest by Tenzing and
Hillary in 1953, the Mountaineering Institute at
Darjeeling was established to develop interest in
mountain - climbing among the Indians. Expeditions
have been sent to climb the highest peaks in the coun-
try.

6. Mountain climbing is a thrilling adventure. It brings
into play the heroic qualities of humankind. Moun-
taineers deserve all praise for their courage and her-
oism. In recent years Mt. Everest has been scaled
several times by foreign climbers. India too has
organised several expeditions to Everest. Lately an
IndianSherpa scaled the Everest without the use of
oxygen. Mrs. Bachchendri Pal also succeeded in scal-
ing the Everest. She is the first Indian woman to do it.
Based on your reading, answer the following ques-

tions in a sentence or two.

96.  Is Mountaineering a dangerous  sport? why?
a) As one climbs lower, breathing becomes difficult
b) As one climbs higher, breathing becomes difficult

c) As one climbs higher, breathing becomes easy.

d) Both (a) and (c)

e) Answer not known

97.  What do climbers carry with them?

a) first aid supplies b)   food

c) extra clothing d)   All of the above.

e) Answer not known

Direction (98-100) : In 1977, Mr. Nicholas Scotti, a jour-

nalist from San Francisco, flew from America to Italy to

visit his cousins.The plane stopped for an hour in JFK Air-

port in New York.

Mr. Scotti thought he was at Rome Airport and got off the

plane. Of course his cousins were not there to meet him.

  Mr. Scotti spent two days in New york believing he was in

Rome. In their letters his cousins always talked about the

traffic problems and the famous building in Rome.

Mr. Scotti decided to find their home without their help.On

his journey round the city, Mr. Scotti asked a policeman to

tell him the way to the bus station, Mr. Scotti asked him in

Italian. Luckily, the policeman was an Italian from Naples,

Italy and could reply in the same language.

  On the next day, after 12 hours of travelling round by

buses, Mr. Scotti was surprised that the policemen and

drivers speak in English. A policeman tried to tell him that

he was in New york, but Mr Scotti didn’t believe it and

even got angry.

Complete the following table with information from

the anecdote about Mr. Scotti’s short trip.

Name NicholasScotti

Occupation Journalist

Reason for his trip To visit his cousins

Means of transport Aeroplane

Destination Italy

Circle the best option.

98. In New York Mr Scotti left the plane because he

thought he

a) had to change the plane.

b) was in Rome.

c) had to phone his cousins.

d) had to look at the airport.

e) Answer not known

99.   He decided to find his cousins’ home without their

help. He asked the policeman for information in Ital-

ian because he

a) thought he was in Italy.

b) knew the policeman.

c) didn’t speak any other language.

d) liked the language.

e) Answer not known

100.On the next day, Mr Scotti was __________ at how

the local people responded to his queries.

a) surprised b) unhappy c) glad

d) upset e) Answer not known
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101.Find the value of 6 6 6 ...  

6 6 6 ...   

a) 3 b) 2 c) 4 d) 1

e) Answer not known / 

102. In how many years will a sum of Rs.800 at 10% per

annum compounded semi-annually becomes Rs.

926.10?  (in years)

     

 





a) 1
1

3
b) 1

1

2
c) 2 

1

3
d) 2 

1

2

e) Answer not known / 

103.The number divisible by 3 is



a) 1486079821 b) 2222222222

c) 3333133331 d) 1212121221

e) Answer not known / 

104.What comes next ?

c + y, d + x + 1, e + w + 2, f + v + 3, ........



c + y, d + x + 1, e + w + 2, f + v + 3, ........

a) h + u + 4 b) g + z + 4

c) g + s + 4 d) g + u + 4

e) Answer not known / 

105.The L.C.M. of two numbers is 12 times their H.C.F.

The sum of H.C.F. and L.C.M. is 403. If one number is

93, find the other









a) 120 b) 124 c) 128 d) 134

e) Answer not known / 

106.A circus tent is cylindrical to a height of 3 m and coni-

cal above it. If the base radius is 52.5 m and slant

height of the cone is 53 m. Find the area of canvas

required to make tent.







    



a) 315  m2 b) 3097.5  m2

c) 2782.5  m2 d) 2997.5  m2

e) Answer not known / 

107. If 2a x y , then the value of 
a a

a a


 x y
 is

2a x y 
a a

a a


 x y


a) 2 b) 0 c) -1 d) 1

e) Answer not known / 

108.The average height of 10 students in a class was cal-

culated as 166 cm. On verification it was found that

one reading was wrongly recorded as 160cm, instead

of 150 cm. Find the correct mean height









a) 165 cm/ b) 160 cm/

c) 155 cm/ d) 170 cm/

e) Answer not known / 

109.A is twice as good a workman as B and together they

finish a piece of work in 14 days. In how many days

can A alone finish the work?

A B 



 A   



a) 11 b) 21 c) 28 d) 42

e) Answer not known / 

110.Which of the following is not a prime number ?



a) 241 b) 337 c) 91 d) 571

e) Answer not known / 

111.How many triangles are there in the figure below ?



a) 5 b) 6 c) 8 d) 10

e) Answer not known / 

112.The principal amount triples itself at 8% per annum

over a certain time.Find the number of years.

      



a) 20 years/ b) 25 years/

c) 30 years/ d) 35 years/

e) Answer not known / 

113.Monthly expenditure of a person whose monthly sal-

ary is Rs.9,000 is shown in the diagram Percentage of

money spent for food expense is



APTITUDE (25)
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

a) 50% b) 20% c) 30% d) 40%

e) Answer not known / 

114.The price of an item inclusive of VAT is Rs. 9,720. If

VAT is 8% then the cost price of the item is

,

?

a) ` 9,000 b) ` 9,100

c) ` 9,120 d) ` 9,200

e) Answer not known / 

115.How many numbers in the sequence

5 2 10
1, , ,......

6 3 3

 
 ?

a) 26 numbers b) 27 numbers

c) 28 numbers d) 29 numbers

e) Answer not known

5 2 10
1, , ,......

6 3 3

 
     



a)  b) 

c)  d) 

e) 

116.Find the missing number



a) 22 b) 30 c) 32 d) 3

e) Answer not known / 
117.Ramesh and Meena divide a sum of Rs.25000 in the

ratio 3 : 2 respectively. If Rs.5000 is added to each of
their shares. What is the new ratio Meena and
Ramesh’s share

     
   

a) 4 : 3 b) 3 : 4 c) 3 : 2 d) 2 : 3
e) Answer not known / 

118. If the following figure represents the outer surface of
a dice. Which of the following pairs is not on opposite

sides?
  
    



a) 1 & 3 b) 6 & 5 c) 2 & 4 d) 1 & 4

e) Answer not known / 

119. If radius of one sphere is half of radius of another

sphere then their volumes are in the ratio





a) 1 : 2 b) 2 : 1 c) 1 : 8 d) 8 : 1

e) Answer not known / 

120.6 9 6 9 9 6 6 7 6 9 7 9 6 6 9 7 7 9 6 6 7 how many 7’s

have a 6 before and after?





a) 1 b) 2 c) 3 d) 4

e) Answer not known / 

121. If 
6

2 7


x

y
, the value of 

14

19






x y

x y
 is

6

2 7


x

y


14

19






x y

x y


a)
13

19
b)

15

19
c) 1 d)

1
1

19

e) Answer not known / 

122.By selling 5 articles, a man gains the C.P of 1 article,

his gain percentage is





a) 25% b) 20% c) 50% d) 5%

e) Answer not known / 

123.A horse is tethered to one corner of a rectangular

field of dimensions 60 m by 42 m by a rope 14 m long

for grazing. How much area can the horse left

ungrazed? (in m2)

x 



    



a) 2366 b) 1366 c) 1827 d) 2212

e) Answer not known / 
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126. Which of the following is/are the plans of extremists
in the beginning of 20th Century?
1. Improve the village economy
2. Fight against social brutality.
3. Installing Swadeshi factories.
 


 
 
 
a) 1 & 2 only b) 2 & 3 only

c) 1 & 3 only d) 1, 2 & 3

e) Answer not known / 
127. Who said, “communalism is one of the obvious ex-

amples of backward looking people trying to hold on

to something that is wholly out of place in the mod-

ern world and is essentially opposed to the concept

of nationalism”?

a) Azad Ali khan b) Nehru c) Gandhi

d) Lal chand e) Answer not known

“

 

  

”



a)  b)  c) 

d)  e) 

128.Which of the following is/are the important of home

rule movement

1. The Home Rule Leagues preapred the ground for

mass mobilization paving the way for the launch

of Gandhi’s satyagraha movements.

2. Many of the early Gandhian satyagrahis had been

members of the Home Rule Leagues.

  



   





   

    



a) 1 only b) 2 only

c) 3 only d) 1, 2 & 3
e) Answer not known / 

129. What was known as Gandhi’s Sathyagraha?
1. A saytagrahi should not bow down before injus-

tice.
2. He should be ready to deny himself.
3. He should be able to accept pain with love.

 
 
 


a) 1 & 2 only b) 2 & 3 only
c) 1 & 3 only d) 1, 2 & 3
e) Answer not known / 

130.The Civil Disobedience Movement in North West Fron-
tier Province was led by __________.
a) Abul Kalam Azad
b) Rajendra Prasad
c) Jayaprakash Narayan
d) Khan Abdul Kafar Khan

e) Answer not known
  

a)  b) 
c)  d) 

e) 
131.When was the first forest act enacted by the British

Government?
  

a) 1850 b) 1856 c) 1861
d) 1865 e) Answer not known

132.Consider the following statements about Gandhi Irwin
Pact & Choose the correct statement/s?
1. Immediate release of all political prisoners not con-
victed of violence.
2. Right to peaceful and non-aggressive picketing
3. Commutation of Bhagat Singh and his commrades’
death sentence to life sentence.
a) 1 & 2 only b) 2 & 3 only c) 1 only
d) 1 & 3 only e) Answer not known


    


     



  



a) 50 b) 55 c) 60 d) 65

e) Answer not known / 

125.Least common multiple of ak, ak+3, ak+5 where k N  is

ak, ak+3, ak+5, k N 

a) ak b) ak+15 c) a3k+8 d) ak+5

e) Answer not known / 

General Studies (25)

124.The age of a man is 4 times the sum of the ages of his

two sons. Ten years hence, his age will be double of

the sum of the ages of his sons. The father’s present

age is (in years)

     



     
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     


a)  b)  c) 
d)  e) 

133.The first Trade Union was founded in India in the year
1918 by

a) N.M. Joshi b) B.P. Wadia
c) V.V. Giri d) S.A. Dange
e) Answer not known

a) N.M. b) B.P.  c) V.V.
d) S.A. e) 

134.From which of the following Session of Indian National
congress Nethaji Subash Chandra Bose resigned his
chairmanship?
a) Banaras b) Calcutta             c)Gawhauti
d) Karachi e) 




a)  b)  c) 
d)  e) 

135. B.C.Dutt was related to _____
a) Simla conference
b) Royal Indian Navy revolt
c) Quit India movement
d) Lahore resolution
e) Answer not known

a) 
b) 
c) 
d) 
e) 

136. Match the following :
1. Abinav Bharat - Shyamji Krishna Varma
2. Ghadar Party - V.D.Savarkar
3. India House - Veerendra Chattopathyay
4. Indian Independence League - Lala Hardayal

   
   
   
 
a) 2 1 4 3 b) 4 3 2 1   c)   2  4   1  3    d)  4 2 1 3
e) Answer not known / 

137.Assertion (A): The institution of separate electorate
was the principle adopted by the British Government
for fostering and spreading communalism.
Reason (R): The people were split into separate
constituencies  so that they voted communally.
a) A is correct, R is not the correct explanation of A
b) A is correct, R is wrong
c) A and R are wrong
d) A is correct, R is the correct explanation of A

e) Answer not known





a) 
b) 
c) 
d) 

e) 

138.Assertion: Sarojini Ammaiyar called Jinnah  ‘the

Ambassador of Hindu-Muslim Unity’.

Reason: Jinnah was the chief architect of the Lucknow

pact.

a) A is correct R does not explain A.

b) A is correct and R explains A.

c) A is wrong and R is correct.

d) Both A and R are wrong

e) Answer not known








a) 

b) 

c) 

d) 

e) 
139.Find out which  of the following statements  are

correct with  the help of the the code  given below.

I. “Chittagong Armoury Raiders Reminiscences”

was written by Kalpana Dutt.

II. Kalpana Dutt fought carrying guns for the

liberation of her mother land.

III. She was charged with ‘waging war against  the

King Emperor’.

a) Only I b)   I and II  c) II and III

d) all the above e)Answer not known
  



i) “Chittagong Armoury Raiders Reminiscences”



ii) 



iii) 



a) I  b) I  II c) II  III

d)  e) 
140.Which one of the followings is not a component of

non cooperation movement?

a) Surrender of all titles of honours

b) Non participation in Goverment function

c) Boycott of the legislature created under the

government of India act 1935.

d) Refusal to accept any civil or Military post





a) 
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b) 

c)      


d)    


e) 
141.“Khudai Khidmatgar” movement was organised by

a) Abdul Gaffar Khan b) Syed Ahmed Khan
c) Liaquat Ali Khan d) Muhammed Iqbal
e) Answer not known
“”
a)  b) 
c)  d) 
 e)

142.Who has moved a resolution for the creation of Paki-
stan in the Muslim League Session?
a) M.A. Jinnah b) Mohammad Iqbal
c) Rahmat Ali d) Khaliq-uz-Zaman
e) Answer not known


a)  b) 
c)  d) 

        e)
143.The Indian Independence Bill received the Royal As-

sent on
a) 18th July, 1947 b) 19th July, 1947
c) 20th  July, 1947 d) 21st July, 1947
e) Answer not known
    


a)  b) 
c)  d) 
e) 

144. Match the following :
A) Fifth Punjab Hindu Conference   1. Dehradun
B) Sixth Punjab Hindu Conference  2. Hardiwar
C) First All Indian Conference of

Hindus 3. Ambala
D) All India Hindu Mahasabha 4. Ferozepur


A)  
B)  
C)  
D)  

A B C D A B C D
a) 2 3 1 4 b) 1 2 3 4
c) 2 1 3 4 d) 3 4 2 1

e) Answer not known/
145. Muslim league was established under Nawab Salim

Mullah Khan on _________
a) September 15, 1905 b) December 30, 1905
c) September 15, 1906 d) December 30, 1906
e) Answer not known


a)  b) 
c)  d) 

e) 

146.Which of the following pair got sentence to be hanged
for assassination of the British officers in England?

a) Rajguru and Sukhdev
b) Khudiram Bose and Surya Sen
c) Madan Lal Dhingra and Udham Singh
d) Kartar Singh Sarabha and Ashfaqullah Khan
e) Answer not known
   




a) 
b) 
c) 
d) 
e) 

147. Who was the leader of the Swadeshi Movement in
Madras?
a) Srinivas Shastri b) Rajagopalachari
c) Chidambaram Pillai d) Chintamani
e) Answer not known

a)  b) 
c)  d) 
e) 

148.When was the temple entry day observed for the
first time?
    

a) 6th January, 1930 b) 8th January, 1930
c) 6th January, 1933 d) 8th January, 1933

e) Answer not known
149.Who among the following was the chief architect or

reconciliation between the Extremists and the Mod-

erates?

a) Annie Besant b)M.A. Jinnah

c) Madam Cama d)Firoz Shah Mehta

e) Answer not known

   

 



a)  b)M.A.

c)  d) 

e) 

150. In which of the following movements did Mahatma

Gandhi make the first use of hunger strike as a

weapon?

a) Non-Co-operation Movement

b) Rowlatt Satyagraha    c) Ahmedabad Strike

d) Bardoli Satyagraha     e) Answer not known





a) 

b) 

c) 

d) 
e) 


